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> x< —read.delim("L1Q.txt")
> barplot (table(x$QA))
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a < — ¢(100,1000,10000,100000)

op < — par(mfrow=c(2,2))

for (i in 1:4) {

y < — as.integer(runif(alil,1,7));
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s < — paste("n=",as.integer(ali])) o
barplot (table(y) ,main=s) }

par (op)
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times < — function(n) {

hit < -0

dice < — as.integer(runif(n,1,21))
for (j in 1:n) {

if (dice[§1<5) {hit <- hit+1}}
return(hit) }

a <— c(4,10,20,50)

op < — par(mfrow=c(2,2))

for (i in 1:4) { nx< —alil; y< —c(1:1000)
for (k in 1:1000) { ylkl< —times(nx) }
barplot (table(y) ,main=paste("n=",nx) } }

par (op)
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> a < — c(4,10,20,50)

> op < — par(mfrow=c(2,2))

> for (i in 1:4) { n < — alil

>k <— 0; chk < — c(1:n+1)

> while (k <= n) {

> chk[k+1] < — choose(n,k)*(0.2"k)*(0.8"(n—k))

>k < — k+1 }

> barplot(chk,col="red’ ,main=paste("n=",n)) }

> par (op)
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